RSPT 2350: Module F – Shunt Equations

Classic Shunt Equation (Gold Standard)

1. Given the following information, calculate the % shunt: Hb: 10 gms%; 
PBARO: 750 torr; PaO2: 80 torr; SaO2: 92%; PO2: 36 torr; SO2: 65%; 
PaCO2: 40 torr, FIO2: .40

A. PAO2: _____________________________________________________


B. CćO2: _____________________________________________________

C. CaO2: _____________________________________________________

D. CO2: _____________________________________________________

E. s/t : ____________________________________________________

Clinical Shunt Equation

2. Given the following information, calculate the % shunt: PBaro: 730 torr; FIO2: .50; PaO2: 66 torr; SaO2: 91%; PO2: 42 torr; SO2: 70%; PaCO2: 50 torr; Hb 8 gms%

A. PAO2: ____________________________________________________

B. CaO2: ____________________________________________________

C. CO2: ____________________________________________________

D. CaO2-CO2: _______________________________________________

E. s/t: ___________________________________________________

